0000000 (0 120)

http://coconut.sys.eng.shizuoka.ac.jp/ds/

0000 (0000O000)
2006.06.26

21. 000001V

22, OOoOobo-gobboobuoobuobouoboua

godo-obooooo,ddby=s0000 21000000000000000
g 21gd0boood.gdo,bogooobooooo,o 22000000.

021:000000N=(G=(V,A),l

Oooo0,Step20 00000000000,

s00000,b00000,4d00000,e00000, f00000,¢00000,4
ooooo.

ooo.
00000,000000000000000000000000000000000
000,y0000000000.00000000000000000000000 (k)
0000000000000000. 0000000000000, (s,b,d,e, f,g,h) 00
00000000000000000.0000000000000,00000000
ooooooooo?

000O00.000000 (s,dg,h,f,be)000.000000000-000000
00000000 22000000.(000000000.)



021: 0000-00000000 (10).

+00

+00

+00

+00

+00

+00

b

k=2

p

k=3

k=5

k=6

022 0000-00000000 (II)(0000000).

+00

+00

+00

+00

+00

+00

k=2

k=3

k=5

k=6




s 0
0 22:p0¢00000.

023:000000N,=(G=(V,A),L)

00D,k=2000000000!000,00000000000: (s,d,g,h, f,b,¢)
odododooooooo? o0, 0000000000 oOo0D0D0ooDoooOoOoOoaoa
ogoov?

oo oouoooooooobooooooooo. oo ooooo
ogooooo. o230, 0000-000obogoooooooooooonD pooon,
goooo

Ly(v,w) = l(v,w) + p(v) — p(w)
00000000000 N, = (G = (V,4),,)000. La) >0 (ac A D0DOD,
N,=(G=(V,A),,)00000000000000000000000000000.
D00000000000,wDOO0000000000, (s,d,q,h,f,b,e) 000.

(000D,0000,6050000000)00 210000,N=(G=(V,A4),))0
000000000, N,=(G=(V,A),,)00000000000000000,A,O
000000000000 b00o0oo0ooooANODOOO0OOOOOOODOO0O0O0O0
gooooooao.

DDD,DDDDDDDNpDDDDDDD,DDDD—DDDDDDDDDDDDDD
0000, 00000b00000oooo0, 0000000 ooooooooo!



23. ODUgboboooboobon

00000000,000000000000000000000-000000000
000000, 000,0000000000000,000000000000000
0000000000.000000000000,0000000000000000
00000.00000000000000000000000000.
00000G=(V,A)D0,00000000000000000000000.000
00G=(V,A)00000000000000000N=(G=(V,4),)0,0000
0D00000000.000,0000000000.000000000000,000
0000000000000000,00000000000000,00000000
0oooooo0.

024:0000000000N=(G=(V,A),l)

000 G=(V,A)UOOOVvVOOOOOO (topological order) 00, VOO0 (O)O
(’UZ‘,U]')DD == 1 <]

00000000000 (v,ve--,0,)000. 000G =(V,A)0O0OOOOO0OO
0,v0000000000000.000,0 240000000000000000,
(s,g,d,e,h,b, f,i)000. 0000000000,00000000000000

l.ogobbobooooono.

2. 00000oboobooooboog.

000000 100000000000000000D0O00000 (OO0 v»000)
00: 0000000000 N = (G =(V,A),1), v € V.
Jd: vy 00O0O0OD0O0O00o0D0000,00,0000.
p(v) «— 0, p(u) «— 400 (u € V\{v}), k1.
. VOoOooooo (v,---,0,)0000.
: fori=1tondo
% 000000 (v,w)0000
(*) p(w) > p(v;) + (v, w) BO O, p(w) < p(v;) + (v, w), g(w) « v;.
5. end for

L




00000000000000000000,0000-000000 Step20 VOO
000000000000000000000,100000000000. 00000
00000000000000000000 1000.

N=(G=(V,A),)00000000000000000,0000000000,0
0000000000000.00000,N=(G=(V,A),)0000000,NO00
0000 (e)00000000000000 -N=(G=(V,A),-)00000000
ooooooooo.

025 0000000000pOg((OOOOOOO).

A
i

026 0000000000000CO pOg(@OuOooooOon).



